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Cuadro 2 (continuación 5)/Table 2 (continued 5)
 Argentina: tablas abreviadas de mortalidada

Argentina: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.021 0.021  100 000  2 061  98 246 0.979 b 7 015 114 70.2
1 4 0.001 0.003  97 939   276  391 023 0.997 c 6 916 869 70.6
5 5 0.000 0.002  97 663   171  487 888 0.998 6 525 845 66.8

10 5 0.000 0.002  97 492   163  487 053 0.997 6 037 957 61.9
15 5 0.001 0.004  97 329   398  485 649 0.994 5 550 904 57.0
20 5 0.001 0.007  96 931   684  482 945 0.992 5 065 255 52.3
25 5 0.002 0.008  96 247   817  479 193 0.991 4 582 310 47.6
30 5 0.002 0.010  95 430   969  474 727 0.989 4 103 117 43.0
35 5 0.003 0.013  94 461  1 214  469 271 0.985 3 628 390 38.4
40 5 0.004 0.018  93 247  1 676  462 047 0.977 3 159 119 33.9
45 5 0.006 0.027  91 571  2 491  451 629 0.965 2 697 072 29.5
50 5 0.009 0.042  89 080  3 777  435 959 0.946 2 245 443 25.2
55 5 0.014 0.066  85 303  5 633  412 435 0.917 1 809 484 21.2
60 5 0.021 0.100  79 671  7 998  378 358 0.876 1 397 050 17.5
65 5 0.032 0.150  71 673  10 725  331 551 0.819 1 018 691 14.2
70 5 0.049 0.218  60 948  13 272  271 560 0.737  687 140 11.3
75 5 0.076 0.321  47 676  15 283  200 174 0.622  415 580 8.7
80 5 0.121 0.462  32 393  14 951  124 589 0.491  215 406 6.6
85 5 0.175 0.597  17 442  10 405  61 197 0.370  90 817 5.2
90 5 0.239 0.714  7 037  5 027  22 616 0.265  29 621 4.2
95 5 0.309 0.806  2 010  1 619  6 000 0.143 d  7 005 3.5

100 ω 0.388 1.000   390   390  1 005  1 005 2.6
Mujeres/Females

0 1 0.016 0.016  100 000  1 621  98 636 0.983 b 7 755 124 77.6
1 4 0.001 0.002  98 379   240  392 865 0.998 c 7 656 488 77.8
5 5 0.000 0.001  98 140   125  490 386 0.999 7 263 623 74.0

10 5 0.000 0.001  98 015   115  489 785 0.998 6 773 237 69.1
15 5 0.000 0.002  97 899   183  489 039 0.998 6 283 452 64.2
20 5 0.001 0.003  97 716   256  487 940 0.997 5 794 413 59.3
25 5 0.001 0.003  97 460   328  486 478 0.996 5 306 473 54.4
30 5 0.001 0.005  97 131   439  484 561 0.995 4 819 995 49.6
35 5 0.001 0.006  96 693   624  481 904 0.992 4 335 434 44.8
40 5 0.002 0.010  96 069   918  478 048 0.988 3 853 530 40.1
45 5 0.003 0.014  95 150  1 375  472 314 0.982 3 375 483 35.5
50 5 0.004 0.022  93 775  2 031  463 799 0.973 2 903 169 31.0
55 5 0.007 0.032  91 744  2 973  451 289 0.960 2 439 369 26.6
60 5 0.010 0.049  88 771  4 317  433 065 0.939 1 988 080 22.4
65 5 0.015 0.075  84 455  6 315  406 486 0.905 1 555 015 18.4
70 5 0.025 0.118  78 140  9 188  367 728 0.846 1 148 530 14.7
75 5 0.043 0.195  68 952  13 442  311 153 0.745  780 801 11.3
80 5 0.078 0.329  55 510  18 247  231 931 0.612  469 648 8.5
85 5 0.126 0.476  37 263  17 752  141 932 0.474  237 718 6.4
90 5 0.188 0.622  19 510  12 136  67 212 0.344  95 786 4.9
95 5 0.259 0.744  7 374  5 487  23 154 0.190 d  28 574 3.9

100 ω 0.348 1.000  1 887  1 887  5 420  5 420 2.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


